SIR GAWAIN and the GREEN KNIGHT
Episode 3 - A Christmas game

1. Choose the best phrase to complete the sentence
1.King Arthur is:

a. very rude to the Green Knight

b. ignores the Green Knight

c. very kind to the Green Knight

2. The Green Knight has come to Camelot:

a. to join the party
b. to fight
c. to play agame

3. The person who accepts the challenge:

a. must wait a year before he can have the axe
b. can keep the Green Knight's axe
c. can use the Green Knight's axe

4., Arthur says there is no challenger because:

a. his knights are too frightened
b. his knights think it is a mad challenge
. the knights don't believe the Green Knight will give them the axe

A

5. The green Knight has got a very loud voice.
Vero Falso

6. He thinks he is stronger than King Arthur's knights
Vero Falso

7. King Arthur thinks the Green Knight is funny.
Vero Falso

8. King Arthur asks one of his knights to strike a blow at the Green Knight.
Vero Falso

2. Use the following words to complete the summary:
laughs at - game - axe - crazy - challenge - angry - half - invites - year - knight - accepts - eat

King Arthur ................ the Green Knight to join in the banquet but the giant says he has not come

(o O and drink: he has come toplaya .........cccceeeeeee The “game”is a .....cceceeneee and the giant

explains: he is looking for a ................. who will strike a blow at him with his ...................... The knight

who accepts can keep the axe: But thatis only ...............of the challenge! The other half is that after a
veeerenneenn the giant will strike a blow at the knight with the same axe. The knights think the giant is

................ and nobody accepts the challenge. The giant ................. them all and King Arthur gets

................ He stands up and ................the challenge.



